TRICHY RACE ACADEMY

COACHING FOR TNPSC/BANK/SSC/RRB/TET

OPERATION 175

ECONOMICS - MATHS - TEST (DAY —-9)

1. Which of the following were objectives of Monetary Policy?
1) Employment Generation 2) Price Policy
3) Economic Growth 4) Exchange Rate Stability
L1651 621 (15 6 6T 6u D 151 6L LIsTITITNILIGL ©1 &M 61T 63185 U T 63T
CIpIT& &M1& 61T 6T6m6U?
1) GeusmeveumulLiL 2 (HEUTHSLD 2) allemevs Q& TeTMS
3) QueTTHTY euenj&H 4) wrhHm eNHG
151616V & 5 66T60ILD
a.1,23 b.2,3,4 c.1,34 d. All

2. If RBI follows expansionary monetary policy what will be the
effect on Indian Economy?
1) Inflation 2) Employment Generation
3) Decrease in Interest Rate 4) Rupee value increases
f&jeu eumid aflifleuns s LssoTailleL Q& TeTemSemWIL
ettummearmev, @b St QLI ([HENTIT ST & &6V 6T 63T 60T
ur&iy gouLb?

1) uen e &L 2) GeuemeveumiiLiL

2 (HEUM&HSLD

3) auLl_1g &5 & H6L GsMMEY 4)emumil &Y

2 wje|

a.1,2,3 b.2,3 c.2,34 d. All

3. Which of the following were indirect taxes
1) Income Tax 2) Corporate Tax
3) Excise Duty 4) Customs Duty
L1667 611 (15 611 60T 6L D NN 6 LOGH M (L & 611 & 61T

1) eu(mLomert euifl 2) imieuewt eurfl
3) &evmeL euifl 4) &ms euifl
a.l1,2 b.3,4 c.2,34 d. Only 3

4. Which of the following Fiscal Policy reduces inequality?
1) Increase in Government Expenditure
2) Removal of Income Tax
3) Increase in Corporate Tax

Metreu(pLb HlFH & Q& meTen s & efleL 68
&L05 G| ULOI6HTeMLO W& (&M & HM &I
1) sipemmss Qgevey SiHs MLy

2) eu(mLoment euifl 5 &L

3) &sruuGHL sufl &Ry

a. 1,2 b.2,3 c.13 d. All

5. Which Atrticle specifies Goods & Service Tax council?
&5 LHMID CFmel Uil &6 TS M6V 6TIHS FT5GI
GMUNGEmE?
a. 269 A b.279 A c.289 A d. 349 A

6. When was Fiscal Responsibility and Management Act
established?

& QuIrmUY WHMID CLOEOTEIENLO FLL LD TLGUITG)

BmeuluLr L g|?

a. 2001 b. 2002 c. 2003 d. 2004
7.What are open market operations in Banking Terminologies?

a. Buying Securities b. Selling Securities

c. Buying and Selling Securities  d. None of these

aunu&l& Qermseflsv Hmhs FHeng QgweoLm® &6t

6T 60T 6012

a. USSJHIS MO 6UITIRIG S 60

b.usfymisemner aliMHLem 6T Q&I 60

C. UGS EMENT UG S 60 LMHMID aNHUS

d. @eummiev F GILEIELEM6L

8.1) Finance Commission is an advisory body

2) 80™ Amendment Act were enacted by the recommendations
of Tenth Finance Commission

3) Alternate Scheme of Devolution was introduced in 10™
Finance Commission

1) H& pCWITs eTETUG) (1 3 CELTEFEME Sl6MLOLIL

2) 806ug) H®5E FLLLb UGG M6 HHS & (L eiler
ufiihglemyseflerug @uiHmuuLr L g

3) 106u gy H1&) oy 6m6weTILIS Sl6L S S TTL LIS 618 8T 60T
LIHMS SLLLb AN WPSLULESSULLL G
a. 1, 2, correct b. 2, 3 correct
c. 1, 3 correct d. All correct

9. 1) Chairman of 15" Finance Commission is NK Singh
2) Currently, 42% share were allocated to all states
excluding Jammu & Kashmir
1) 1561 ) H&) 24,60 65011 S 60T &6M6LEU 6T60T.C&. SR
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2) 3HCurg), Y & &T6glBF el Sm6aTSHF)

LOMIHI6V IS (61 & (GLD 42% LIS &I &SLILIL (ReTeng)

a. Only I true b. Only Il true
c. Both are true d. None are true
10. Arrange in Chronological Order:

11.

12.

13.

14.

2) SAFAESI Act
4) RBI Act

1) Banking Regulation Act
3) Insolvency & Bankruptcy Act
Arrange in Chronological Order:
1) eumi &) g (PG (LMD FLL LD
3) leumeL FL_L L
aa4231 b4123

2) SAFAESI §LLL LD
4) RBI LD
c.4132 d4321

Which of the following comes under capital receipts
1) Customs Duty 2) Income Tax

3) T-Bills 4) State Development Loans

L6 61 (1 61 6T UM M6V 6T G ELPEL G 60T 1 FG) 8 6fl6tT H1p
UG

1) &mis eulfl 2) eu(mLoment euifl

3) T-Bills 4) Lomblev eUENT&E) &L 6518 61T
a.l1,23 b.2,3,4 c.3,4 d. Only 3

Which of the following is the formula for Budget Deficit?
1) Total Revenue - Total Expense

2) Total Expense - Revenue Receipts

3) Total Expense - Capital Receipts

4) Total Expense - Total Receipts

L1657 61 (1H 6 60T UM Ml 6L LIL QWL LID M IT & (& 69D & & IT 601

& SIILD 6181

1) Q&g eu(pHeumil- Qrgs Q&Fsvey

2) Qs Qgevey - QU(HEUTLL &G &6l
3) Qs QAFevey - CLP6V G 6T [ &81 5 61T
4) Qrss QFeve| - Qg g §&g) 86l

Which of the following were qualification aspect of credit
control?

1) Repo rate 2) Publicity 3) Direct Action 4) MSF
L1637 61 (15 61 63T 6U D 191 6 &L 60T &1L (B LILITL L. 60T & (S

IILDFLD a2

1) QpuGum eN&lgLd 2) ellerbUyLd

3) GBIl L 6UIG &H60 5 4) MSF
a.l1,23 b.2,3 c.2,34 d. All

Which of the following were the objective to control
Inflation?

15.

16.

17.

18.

19.

a. Decrease in Government Expenditure

b. Decrease in Interest rates

c. Increase in Exports d. Increase in Taxes
LN edT6u (1 6 sTTEUMMIEL 6T ) LIGTTT 615 8 § 61 8 8>
SLEUUB I CHTHSHLTS Q[HHSSI?

a. 3Ir& QFevailearmisefled Gsmmey

b. auLl1g eli&HgruseafleL Gsmmey

C. gHmId AHsMIY d. eufl iRy

Who among the following get affected during Inflation?

a. Salaried Persons  b. Entrepreneurs Creditors

c. Borrowers d. Creditors

uewTefs & & Slett CLITG) &L & & 6uorL_euij &6fleb wimy
ur&&sLu@ STy 6

a. FLOLIEMLD 6T MH(GLD HLITS6IT

b. QGTLHIEL (L 61 63T CEUITIT &L_65T EULO M (G LIGUIT & 6IT

C. L6 eummudlweujser  d. HL60T Q&HT(H &S 6uij& 6T
a.1,23 b.1,3 c.l,4 d. All

When was Regional Rural Bank Established?
g w Symwoym eurd ruGumg) HimieuluLr L g2
a. 1972 b. 1974 c. 1975 d. 1980

Which of the following were function of NABARD?
1) Refinance Facility

2) Lender to Cooperative Society

3) Research 4) Rural loan provider

L1657 611 (15 61 60T 6U D NN 6V [HLIT T L 63T Q& WILLIT (B & 61T

wimemeu?

1) inmimSweliiy eugd)

2) sal_(h M6 FHISSHHD G &L 60T QST ([H &S 6l

3) oL pmiiEs 4) SlgmwLiym &L 65
CULDIRI G LI

a.1,23 b.1,3,4 c.1,4 d. All

Which of the following were not crypto currency?

a. Bitcoin  b. Tether c. Rupay d. Cardano
NedTeu (I eueTeumMieL 6T & HRNLCL TS 6T S1606L?
a. iLsmuilesr b.QLgy c.epumid d.&STFLTGerT

When was Banking Ombudsman Scheme launched?
6UMRI&) DL 6N0GLO 6T HLL LD eTLIGUITG)
QAsMLRISUIULLG) ?
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20.

21.

22.

23.

24.

a. 1994 b. 1995 c. 1997
Which of the following decrease rupee value?
a. Increase in Interest rates

b. Increase in Foreign Investments

c. Increase in Tourism

d. Increase in Money Supply
L6576 (I 6u 6T euMMI6L 6T &) UM L FILIL] GOHDEMGI?
a. auLlg el&HGMhis 6T iHafiL

b. oieirerllw (&S H S1HSHLILY

C. &Mhmieord glenmuilev SiHsHL

d. ustor eNHICWITS G H6L SiH &ML

d. 1998

Which of the following bank is appointed by RBI to
conduct Government business?
L6876 (1H 61 6T EUM M6V 6TTHG 61 MISILLIIT 6T §) [ &r
6uewl& 5608 HL &GS &TS RBI 4,60
Hud&sUuGHME) 2
a. UCO Bank

c. Bandhan Bank

b . IDBI Bank
d. Canara Bank

Which of the following ratio denotes the ratio of cash in
hand to cash in bank?

a. Currency Deposit Ratio b. Reserve Deposit Ratio
c. Cash Reserve Ratio d. Fixed Deposit Ratio
MetTeu(pLd 1&g s erflev 618l m&Uiled @ (15 GLD
LI6var & S (D (GLD 6uMmIFuileL 2_6iTerm Li6wor &S m(GLd 2 6iTem
&g 5mas G016 e

a. peworl emeuli eNlgLd b, @pLiy emeuliy
allflgLb

C. uewar LI il gLd
allflgLb

d. hlémevwiment smeuLiL

Which of the following were called as Narrow Money?
L1637 61 (1h 61 60T UM M 61T 6T &) (&ML LIGTITLD 6T 63T M)
AMPSHHLILLL G| ?
a. M; b.M, ¢ My, M, d. M;& M,

When we increase cash reserve ratio what will be the effect
on Indian Economy?

a. Increase in Money Supply b. Inflation

c. Deflation d. Tax Increase

QArr5s masWIGLUY aN6ls5ms 2186 H & @GLnGung)

AL QUITIHaTTHTY S S 6L 6T6dT60T LM HILIL] 6] HLIEHLD?

25.

26.

27.

28.

29.

a. ueswr eNHCWNESH 6L SFSHILY b. LewTaissLd
C. LIGTEUML_L LD d. euifl 2.wijey
Which Article specifies statutory grant to states?
LOMTH60 M1 & (61 & & T6uT FL_L LI Jeu Lomaflwgeng eTihs S
758 GMUUIGHmg

a. Article 275 b. Article 282

c. Article 290 d. Article 340

Which of the following article takes control over state
finances?

MNeireumLd &58 81566 615 omhlev HlHufesr g
SLEUUTL L& Q&6 B e g)?

a. Article 356 b. Article 355

c. Article 352 d. Article 360

1) Monitary Policy Committee consists of 5 members

2) RBI Governor is the member of Monetary Policy
Committee currently

1) prewnus QBTN & G(1p O 2-MIULTNGTT&emens
Q& mesor B eiten g

2) flejeu euru&luileir seufery HCUTE HH &

Q&meTemn s &
G(paiev 2 MINlEIITS 2 6Ty

a. Only I true b. Only Il true

c. Both are true d. None are true

Find the compound interest on Rs. 1,000 at the rate of 10
% per annum for 18 months when interest is compounded
half-yearly?

AW (B85S @@ (LMD UL I HFEYIL 65T
Cai&SLILLLITEL (Ih. 1000-&(& 34,600T(H UL lg IHLD 10 %
afgLiLlg, 18 DM KIS (EH5ES Fol_(h QUL g &TEU0T6LD?
a) €. 157.62 b) em. 157.63

¢) €mp.157.61 d) em. 157.60

If the rate of Compound interest is 12 % per year and
compound interest is calculated every 3 months, then what
is the total amount after 9 months when the deposited
amount is one lakh ?

Fal (B aULlq efFLD )00 (H &S 12 % eT6I M TGS Hl6L 3
LTSS MG @5 (LM &6vorSHEILLILIH LD 6T6vfl6L 69 (1
VL& CHUML Q&eVISHHLILILL LTl6T 9 LOMHLD HLH1S G
Q&Y CHTENS 6TeU6UETE ?

a) e.1,09,000.00 b) em.1,09,060.00
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30.

31.

32.

33.

34.

¢) e.1,09,060.30 d) e.1,09,272.70

The population of a city was 2,25,000 at 2018. If it will be
increases at the rate of 12% next year. What will be the
population of 2019?

2018-60 6(Ih [h B[ S E) 6T L0 & &6 QHTeMS 2,25,000, (B HS
24,600T19.60 G| 12% I H&HF1&(GLOMEVIT6V, 201960 LD & &6lT

Q5™ & 6MWIS &IT6U0TS.
a) 2,52,000 b) 2,50,000
c) 2,47,500 d) 2,52,500

A sum of Rs.12,000 deposited at compound interest
becomes double after 5 years. After 20 years it will
become
€5.12,000 Fa (b euL_Iq uileéL 5 94,6801 (5 &5 & (& @(1H
WL RISTEMG!. CLOGYILD 20 346801 (H &6T &L015 G
6T6U6UETEY Sl & (FLD.
a) em.1,20,000
c) em.1,24,000

b) em.1,92,000
d) e.96,000

Find the compound interest on Rs.1000 for 10 years at 4%
per annum if the interest is calculated quarterly.
ST6LTEE (H & &I (LPEHM UL LG &6T0T&HSHIL_LILIL_L_T6V,
€. 1000M(& 4% Fal B UL lg 65 S H6L 10 Iy, 6501 (H & 660
HOL&GLD Tl (B UL g 6TEUOUOTE]?

a) 486 b) 479 c) 400 d) 500

The population of a town is 176400. It increases annually
at the rate of 5% per: annum. What will be its population
after 2 years?

(b BT HH 60T L0 & & 61T QTN 176400. eU(HLSHHMD S
5% LD & 861 QG Ten & 1 H&H&HME) eTevflev 2
91,6001 (5 & (65 &S LI NG H&H T HH60T LS S6T Q&ITemS

6T6OTEOTEUIT S B\(IH& (FLD?
a) 194781 b) 194681
c) 194581 d) 194481

A type of bacteria grows. It increases at 5% in 1st hour,
decreases at 8% in 2nd hour and again increases at 10% in
3rd hour. Find the number of bacteria at the end of 3rd
hour if there were 10,000 in the beginning.

@6 QUM LTSI (LLGH6EOTEUS) ¢ ([ LO 6wl

GCrhy&Slev 5% euemj&SALLD, @T6UTTLTeUG) &2 ([ LO6usT)

a) 10626

35.

a) 2(1/2)%

36.

37.

38.

39.

Gy &lev 8% eueMj&S G 6TMIL|LD, CLOGTMTEU ) €2 (5
Lo6usfl GBS H 60 10% euenFFHAULD ML SMG).
(LPS6V16L 560 6T 6501610115 6M & 10,000 4, &
BGHSAHwM0, eparn) el CHISHDGL NS
315 60T 6T 6016007156015 60) WIS 51T 6T 5.
b) 10266 c) 10622 d) 11626
A sum of money invested at compound interest amounts to
Rs. 800 in 3 yrs. and to 840 in 4 yrs. Find the rate of
interest per annum?
€. 800 &3 Sl (B QUL g afBLD 3 94,6601 (H & (€15 & GLD, CIh. 840
32 4 94,6301 (h & (€1 & (HLD €2 (1 UM HluNev QT eI S FHewTTed
ML &GLD 6L 1q OIGLD 6T6UEIETE?
b) 4% c) 5% d) 6(2/3)%
Find the principal if the difference between compound
interest and simple interest on it at 15% per annum for 3
years is Rs. 1134
15% 4,600T(H UL Iq.uN6v, 3 Y6091 (H & (E1h & (S HOL 55
&6fl UL 195D ol (B 6ULI9.6GLD GevL G 2_6iTer
Il HWMTELD RS. 1134 6T60fl6L FM6LE & IT6TOTS.

a) Rs. 12,000 b) Rs. 16,000

¢) Rs. 8,000 d) Rs. 6,000

The difference between compound interest and simple
interest for Rs. 8,000 at 10% per year for 2 years is
Rs. 8,0008(& 10% 6UL_1q LD Sy 6v0TLq.MD(S 6T6vfl6L 2
31,6901 (5 &61fl60 Fa LB UL 19.5GLD &6l 6L 198 (GLD
2_sitem eflGHwmgLd
a) Rs.75 b) Rs. 80 c) Rs. 85 d)Rs. 100
Find the difference between Simple Interest and
Compound Interest for a sum of Rs. 8,000 at 10% p.a. in 2
years.
€. 8,0008(G 10% eUL_lg6f5Lb eT6fléb @ pevor®
94,6001 (b 8611160 FEML_&(GLD FaL_ (B 6L 1.8 (GLD & 6vfl
QUL 1.8 GLD 2 6T NG EWITEFLD &IT60015:
a) Rs. 800 b) Rs. 80
c) Rs. 80,000 d) Rs. 10,000

In how much time will a sum of Rs. 1600 amounts to Rs.
1852.20 at 5% per annum compound interest
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CHLIMLL 1600 3y 63Tl 5% 4600 (H For_(B 6L Ig. OIGLD
Q& mevoT(H 6755060 34, 650T(H &6fleL LML 1852.50

2 GLD?
A) 2 gy 6ua1 (B S6rfl6L
C) 4 oy, 6v01 (B B6erfl6v
94,6901 (B & 61fl6L

10. B

11. C

12. D

13. B

14. A

15. C

40. The difference between the compound interest and simple
interest accrued on an amount of 18,000 in two years is
Rs .405. Then the rate of interest per annum is
A e Liisefe0 [ 1800085 M6 ol euUL_lg,

No-43, Jumancentre, Prom

B) 1 24,650T1q.6L
D)3 Setflall g gy Hwaummlei llGHWwmELDd Rs.405 6T 6vfleL
(L aUL_lg ef5LD
(A) 12% (B) 15% (C) 18% (D) 10%
ANSWER KEY
16. C 31. B
17. D 32. A
18. C 33. D
19. B 34. A
20. D 35. C
21. C 36. B
22. A 37. B
23. C 38. C
24, C 39. D
25. A 40. B
26. D
27. B
28. A
29. D
30. A
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